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APPLICATIONS FOR A PLASMOIDS FORM AND FUNCTIONS
ALIEN MATHS AND CHEMISTRY
HYDROGEN, NOBLE GASES, METHANE AND CARBON MONOXIDE

The melting point and boiling point of any element are the points at which enough energy
has been put into the dynamic system for the resonant frequency intensity to be met. This is
determined by a combination of dynamic factors. Primary of these factors is the sum of the
internal angles of the elements or compounds natural crystal form manifesting in its solid
state. These are adjusted to their atomic charge density and the Area / time / space that it
occupies which are the secondary forces. The Area / Time / Space its self introduces the
additional variable of the external positive and negative atmospheric and atomic pressure.
This is in addition to the tertiary effect of implosive and explosive environmental and atomic
forces. Contamination of other matter further varies the frequency /area / time / space
equation and therefore must be measured and accounted for to determine a “group ” mass
resonance.

PROTIUM [PART OF THE HYDROGEN GROUP]

HYDROGEN MELTING POINT =— 259.2 so0 - 259.2 / 266.666 = 0.972

-259.2 /11.111=23.328
-259.2/1.333=194.4//97.2//48.6//24.3

- 259.2 added sum =2+45+9+2[18]+2+5+9+2=36

- 259.2 multiplied product =2x5x 9x 2 (180) x 2x 9 x 5 x 2 = 32,400

32,400 / 720 =45 32,400/ 16 = 2,025 32,400 / 22.5 = 1,440 32,400 / 0.125 = 259,200
32,400 x 16 = 518,400 32,400 x 22.5=729,000 32,400x .125=4,050

32,400 x 400 = 12,960,000 32,400 x 720 = 23,328,000 32,400 x 900 = 29,160,000
518,400 /16 = 32,400 518,400/ 22.5=23,040 518,400 /720=720

32,400/ 144 =225 32,400 /36 =900 36/32,400=0.00111

144,000 / 32,400 = 4.4444 32,400/7.5=4,320/7.5=576/2=288/2=144

144 x 32,400 = 4,665,600 / 432 = 10,800 / 2,160 = 5

32,400/ 259.2 =125

32,400/ 6.666 = 4,860 32,400 / 5.555 = 5,850 32,400 / 4.444 = 7,290
32,400/ 3.333=9,720 32,400/ 2.222 = 14,580 32,400 /11.111=2,916
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864,000

ALL SIX 864,000 COMBINATIONS

846,000 684,000 648,000 486,000

377

468,000

56,623,104* 55,443,456*44,826,624* 42,467,328*31,850,496*30,670,848*
28,311,552* 27,721,728* 22,413,312*21,233,664*15,925,248*15,335,424*
14,155,776* 13,860,864* 11,206,656* 10,616,832* 7,962,624* 7,667,712*

7,077,888* 6,930,432* 5,603,328* 5,308,416* 3,981,312* 3,833,856*
3,538,944* 3,465,216* 2,801,664* 2,654,208* 1,990,656* 1,916,928*
1,769,472* 1,732,608* 1,400,832* 1,327,104* 995,328*  958,464*
884,736* 866,304* 700,416* 663,552* 497,664* 479,232*
442,368* 433,152* 350,208* 331,776* 248,832* 239,616*
221,184* 216,576* 175,104* 165,888* 124,416 119,808*
110,592* 108,288* 87,552* 82,944* 62,208*  59,904*
55,296* 54,144* 43,776* 41,472* 31,104*  29,952*
27,684* 27,072* 21,888* 20,736* 15,552*  14,976*
13,824* 13,536* 10,944* 10,368* 7,776* 7,488*
6,912,000 6,768,000 5,472,000 5,184,000 3,888,000 3,744,000
3,456,000 3,384,000 2,736,000 2,592,000 1,944,000 1,872,000
1,728,000 1,692,000 1,368,000 1,296,000 972,000 936,000
864,000 846,000 684,000 648,000 486,000 468,000
432,000 423,000 342,000 H-324,000 243,000 234,000
216,000 211,500 171,000 162,000 121,500 117,000
108,000 105,000 85,500 81,000 60,750 58,500
54,000 52,875 42,750 40,500 30,375 29,250
27,000 26,437.5 21,375 20,250 15,187.5 14,625
13,500 13,218.75 10,687.5 10,125 7,593.75 7,312.5
6,750 6,609.375 5,343.75 5,062.5 3,796.875
3,656.25

3,375 3,304.6875 2,671.875  2,531.25 1,898.43 1,828.1
1,687.5 1,652.34375 1,335.9375 1,265.62 949.2187 914.06
843.75 826.171875 667.96875 632.812 474.6093  457.03
421.875 413.0859375 333.984375 316.406 237.3046  228.51
210.9375  206.54296875 166.99218 158.2031 118.6523 114.25
105.46875 103.271484375 83.496093 79.10156 59.32617  57.128
52.734375 51.6357421875 41.7480468 39.55078 29,66308 28.564
26.3671875 25.8187109375 20.8740234 19.77539 14.83154 14.282
864,000 846,000 684,000 648,000 486,000 468,000
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HYDROGEN RATIOS TO ALL OTHER NOBLE GASES

32,400 (Hydrogen -259.2) / 3,136 (Helium -272.2) = 10.33163265306122
3,136 (Helium -272.2) / 32,400 (Hydrogen -259.2) = 0.09679012345679

32,400 (Hydrogen -259.2) / 147,456 (Neon -248.6) = 0.2197265625
147,456 (Neon -248.6) / 32,400 (Hydrogen -259.2) = 4.55111

32,400 (Hydrogen -259.2) / 82,944 (Argon -189.4) = 0.390625
82,944 (Argon -189.4) / 32,400 (Hydrogen -259.2) = 2.56

32,400 (Hydrogen -259.2) / 19,600 (Krypton 157.4) = 1.653061224489796
19,600 (Krypton 157.4) / 32,400 (Hydrogen -259.2) = 0.604938271604938

32,400 (Hydrogen -259.2) / 64 (Xeon -111.8) = 506.25
64 (Xeon -111.8) / 32,400 (Hydrogen -259.2) = 0.00195308641975

32,400 (Hydrogen -259.2) / 1,225 (Radon -71.15) = 26.44897959183673
1,225 (Radon -71.15)/ 32,400 (Hydrogen -259.2) = 0.037808641975309 Argon/Helium

HYDROGEN RIGHT TRIANGLE MELTING POINT = - 259.2 C (Earths Equinox 25,920)

864,000/ 259.2 = 3,333.3 864,000 /345.6=2,500 864,000/ 432 = 2,000
2,160 /259.2=8.333 259.2/2,160=0.972

Triangles Area / Time / Space calculation

259.2 x -345.6 x 432 = 38,698,352.6
259.2 x -345.6 = - 89,579.5 (Area of the square) / 2 = 44,789.76 (Area of the Right Triangle)

44,789.76 / 24 Hrs = 1,866.24 1,866.24 /60 Min =31.104 31.104 / 60 Sec = 0.5184
0.5184 / 60 Arc = 0.00864 0.00864 / 60 = 0.000144 0.000144 / 60 = 0.0000024
0.0000024 / 60 = 0.00000004 0.00000004 / 24 = 0.000000001666

0.00000004 / 60 = 0.0000000000666 0.0000000000666 / 60 = 0.00000000001111

0.5184 /7.5 =0.06912 / 0.266666 = 0.2592 x 400 = 103.68 / 16 =6.48 / 22.5 = 0.288
0.288/0.125 =2.304 x 400 =921.9/1.333 =691.2 / 1.333 = 518.4 /1.333 =388.8 / 1.333 =
291.6

-259.2 /3=-86.4

86.4x5=432

-345.6=-86.4x4
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HYDROGEN SQUARE MELTING POINT -259.2 (Earths Equinox) x 4 = 1,036.8

1,036.8/3,456 = 0.3

259.2x 259.2 = 67,184.64 / 11.111 = 6,046.6 67,184.64 / 266.666 = 251.9424
67,184.64 / 144 = 466.56

67.184.64 / 7.5 = 8,957.952

67,184.64 / 2 = 33,592.32

33,592.32/3=11,197.44 11,197.44x 4 =44,789.76 11,197.44x 5 =55,987.2

HYDROGEN CUBE MELTING POINT CUBED = 259.2 x 259.2 x 259.2 =17,414,258.688

1 year, 360 day Time in seconds cube 17,414,258.688 / 360 = 48,372.9408
48,372.9408/24 = 2,016/60 = 33.6/60 = 0.56/ 720 = 0.000777/ 16 = 0.0000486111/ 22.5 =
0000002160493827

17,414,258.688 / 144,000 = 120.932352 / 7.5 = 16.1243136 / 16 = 1.0077696
=1.0077696 / 22.5 = 0.04478976

17,414,258.688 / 1.333 = 13,060,694.016

17,414,258.688 / 266.666 = 65,303.47008000002

17,414,258.688 / 6.666 = 2,612,138.8032

17,414,258.688 / 5.555 = 3,134,566.56384

17,414,258.688 / 4.444 = 3,918,208.2048

17,414,258.688 / 3.333 = 5,224,277.606400001

17,414,258.688 / 2.222 = 7,836,416.409600001

17,414,258.688 / 1.111 =15,672,832.8192 / 9 = 1,741,425.8688
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HYDROGEN RIGHT ANGLE TRIANGLE BOILING POINT =-252.8C

HYDROGEN Boiling point = - 252.87 so -252.87 / 266.666 = .9482625
- 252.87 so0 -252.87 / 11.111 = 22.7583
- 252.87 so -252.87 / 1.333 = 189.699925

252.87=2+5+2+8+7(24)+7+8+2+5+2=48
252.87=2x5x2x8x7(1,120) x7x8x2x 5x 2=1,254,400 / 5.555 = 225,792

252.8 x 337.0666 = 85,210.4365 therefore triangle area 85,210.4365 / 2 = 42,605.2182
42,605.2182 / 24 Hours = 1,775.21743 1,775.21743 / 60 Minutes = 29.5869571
29.5869571 / 60 Seconds = 0.493115951

0.493115951 / 60 Arc seconds = 0.0821859918333

-252.8 /3 =84.2666

421.333 = 84.2666 x 5

337.0666 = 84.2666 x 4

ARGON
ARGON RIGHT ANGLE TRIANGLE MELTING POINT —189.4

-189.4 (3 side) x 252.5333 (4 side) = 47,829.81333 (Area of Square)
47,829.81333 / 2 = 23,914.90666 (Area of the Right Triangle)
23,914.90666 / 24 Hours = 996.45444

996.45444 / 60 Minutes = 16.60757407407

16.60757407407 / 60 Seconds = 0.276792901234568
0.276792901234568 / 60 Arc Seconds = 0.004613215020576

189.4 / 3 =63.1333

315.666 =5 x 63.1333

252.5333 =4 x 63.1333
1+8+9+4(22)+4+9+8+1=44 1
1x8x9x4(288)x4x9x8x1=282,944

82,944 (Argon - 189.4) / 44 = 1,885.0909

82,944 (Argon - 189.4) x 44 = 3,649,536

82,944 (Argon - 189.4) / 266.666 = 311.0400000000001

82,944 (Argon - 189.4) / 11.111 = 7,464.960000000001

82,944 (Argon - 189.4) / 1.333 = 62,208.00000000002

82,944 (Argon - 189.4) / 144 =576 //288//144//72//36//16//8//4//2//1
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ARGON RATIOS TO ALL OTHER NOBLE GASES INCLUDING HYDROGEN

82,944 (Argon- 189.4) / 32,400 (Hydrogen — 259.2) = 2.56
2.56//1.28//0.64// 0.32//0.16//0.08
32,400 (Hydrogen — 259.2) / 82,944 (Argon - 189.4)= 0.390625

82,944 (Argon - 189.4) / 3,136 (Helium - 272.2) = 26.44897959183673
3,136 (Helium - 272.2) / 82,944 (Argon - 189.4) = 0.037808641975309
0.037808641975309 //+8 = 9.679012345679012

82,944 (Argon - 189.4) / 147,456 (-248.6 Neon) = 0.000140625//+5 = 0.144
147,456 (-248.6 Neon) / 82,944 (Argon - 189.4) = 1.777
1.777//0.888/0.444/0.222/0.111/0.0555

82,944 (Argon - 189.4) / 19,600 (Krypton 157.4) =4.231836734693878
19,600 (Krypton 157.4) / 82,944 (Argon - 189.4) = 0.236304012345679 //+5 =3.7808

82,944 (Argon - 189.4) / 64 (Xeon 111.8) = 1,296
64 (Xeon 111.8) / 82,944 (Argon - 189.4) = 0.000771604938272

82,944 (Argon - 189.4) / 1,225 (Radon -71.15) = 67.70938775510204
1,225 (Radon -71.15) / 82,944 (Argon - 189.4) = 0.0147690007716

ARGON
ARGON RATIOS TO ALL OTHER NOBLE GASES INCLUDING HYDROGEN

82,944 (Argon —189.4) / 32,400 (Hydrogen -259.2) = 2.56
2.56 // 1.28//0.64// 0.32//0.16//0.08 //0.04//0.02//
32,400 (Hydrogen -259.2) / 82,944 (Argon — 189.4)= 0.390625

82,944 (Argon — 189.4) / 3,136 (Helium -272.2) = 26.44897959183673
3,136 (Helium -272.2) / 82,944 (Argon — 189.4) = 0.037808641975309
0.037808641975309 //+8 = 9.679012345679012

82,944 (Argon — 189.4) / 147,456 (-248.6 Neon) = 0.5625
147,456 (-248.6 Neon) / 82,944 (Argon — 189.4) = 1.777
1.777//0.888//0.444//0.222/0.111/0.0555

82,944 (Argon —189.4) / 19,600 (Krypton 157.4) =4.231836734693878
19,600 (Krypton 157.4) / 82,944 (Argon — 189.4) = 0.236304012345679 //+5 =3.7808

82,944 (Argon — 189.4) / 64 (Xeon 111.8) = 1,296
64 (Xeon 111.8) / 82,944 (Argon — 189.4) = 0.000771604938272

82,944 (Argon — 189.4) / 1,225 (Radon -71.15) = 67.70938775510204
1,225 (Radon -71.15) / 82,944 (Argon — 189.4) = 0.0147690007716
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CARBON'’S RESONANT FORMS

Carbon has 5 states, each state has a unique melting point or phase change
1) - DIAMOND

MELTING POINT = 3,700K or 3,426.85C The Sum =56 and Product = 33,177,600 (5,760 Sq)
33,177,600 / 144,000 = 230.4 33,177,600 / 518,400 = 64 33,177,600 / 31,104,000 = 1.0666 /// 0.2666
33,177,600 / 24 =1,382,400 / 60 = 23,040 / 60=384 / 60=6.4 / 7.5 = 0.85333 \\\\\ 0.02666
33,177,600 / 864 = 38.4 / 144 = 0.2666 33,177,600/ 2,160 = 15,360 33,177,600 / 129,600 = 256\\\\16

MELTING POINT = 5,000K or 4,726.85C The Sum = 32 and Product = 180,633,600 (13,440 Sq)
180,633,600 / 144,000 = 1,254.4 180,633,600/518,400 = 384.444 180,633,600/31,104,000 = 5.80740
180,633,600 / 7.5 = 24,084,480 / 24 = 1,003,520 / 60 = 16,725.333 / 60 = 278.7555 / 60 = 4.64592592
180,633,600 / 25,920 = 6,968.888 180,633,600 /864,000 = 209.0666 180,633,600 / 266.666 = 677,376

2) - GRAPHENE

MELTING POINT = 4,510K or 4,236.85C The Sum= 28 and Product= 33,177,600 SAME AS DIAMOND
33,177,600 / 144,000 = 230.4 33,177,600 / 518,400 = 64 33,177,600 / 31,104,000 = 1.0666 \\\0.2666

MELTING POINT = 4,900K or 4,626.85C The Sum = 31 and Product = 132,710,400 (11,520 Sq)
132,710,400 / 24 = 5,529,600 / 60 = 92,160 / 60 = 1,536 / 60 = 25.6 / 7.5 = 3.41333\\\\\\\0.02666
132,710,400 / 144,000 = 921.6 / 266.666 = 3.456 / 11.111 = 0.31104000031104

3) - GRAPHITE

MELTING POINT = 3,800K or 3,526.85C Sum =58 and Product = 51,840,000 (7,200 Squared)
51,840,000 / 24 Hours = 2,160,000 / 60 min = 36,000 / 60 Sec = 600 / 60 Arc = 10/ 7.5 = 1.333 \266.666
51,840,000/864,000=60 51,840,000/144,000=360 51,840,000/129,600=400 51,840,000/266.666=1944
51,840,000 / 25,920 (EQUINOX 25,920 Years) = 2,000 (2,000 BATHS IN THE 2/3 FULLMOLTEN SEA)

4) - BUCKEY BALLS CARBON FULLERENE C60

MELTING POINT = 1523K or 1,249.85C The Sum = 58 and Product = 8,294,400 (2,880 Sq)
8,294,400/ 25,920= 320 8,294,400/864,000= 9.6 8,294,400/144= 57,600 8,294,400/21,600=384\\\\24
8,294,400 / 24 = 345,600 / 60=5,760/60=96 / 60 =1.6 / 7.5 = 0.21333\\\0.02666

MELTING POINT = 278.15K or 5C The Sum = 10 and Product = 25

MELTING POINT = 800K or 526.85C The Sum = 52 and Product = 5,760,000 (2,400 Sq)
5,760,000 / 25,920= 222.222 5,760,000/864,000= 6.666 5,760,000/144= 40 5,760,000/21,600= 266.666
5,760,000 / 24 = 240,000 / 60 = 4,000 / 60 = 6.666 / 60 = 1.111 / 7.5 = 0.148148148

MELTING POINT = 707K or 433.85C The Sum = 46 and Product = 2,073,600 (1,440 Sq)

2,073,600/ 24 =86,400/ 60= 1,440 / 60 =24 / 60 = 0.4 / 0.00075 = 266.666 (C music elemental Octave)
MELTING POINT = 739K or 465.85C The Sum = 56 and Product = 23,040,000 (4,800)

23,040,000 / 24 = 960,000 / 60 = 16,000 / 60 = 266.666 [ 60 = 4.444 23,040,000 / 25,920 = 888.888

5) - NANOTUBULES

MELTING POINT = 5,200K or 4,926.85C The Sum = 68 and Product = 298,598,400 (17,280 Sq)
298,598,400 /24 = 12,441,600 / 60 = 207,360 / 60 = 3,456 / 60 = 57.6 (14.4 x 3)/ 7.5 = 7.68 \\\\\0.24
298,598,400 /144 = 2,073.6\\\259.2(H) 298,598,400/25,920 = 11,520 298,598,400/= 129,600 = 2,304
MELTING POINT VACUME = 3,073 K or 2,800C The Sum =20 and Product = 256 (16 Sq)

MELTING POINT AIR = 1,023K or 750C The Sum = 13 and Product = 1,225 (35 Sq)
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1). DIAMOND
33,1777,600

MELTING POINT = 3,700K or 3,426.85C Sum = 56 Product = 33,177,600 (5,760Sq)

33,177,600 / 144,000 = 230.4 33,177,600 / 518,400 = 64 33,177,600 / 31,104,000 = 1.0666 /// 0.2666
33,177,600 / 24 = 1,382,400 / 60 = 23,040 / 60 = 384 / 60 = 6.4 / 7.5 = 0.85333 \\\\\ 0.02666

33,177,600 / 864 = 38.4 / 144 = 0.2666 33,177,600 / 2,160 = 15,360 33,177,600 / 129,600 = 256\\\\16
MELTING POINT = 5,000K 4,726.85C The Sum = 32 Product = 180,633,600(13,440S q )

180,633,600 / 144,000 = 1,254.4 180,633,600/518,400 = 384.444 180,633,600/31,104,000 = 5.80740
180,633,600 / 7.5 = 24,084,480 / 24 = 1,003,520 / 60 = 16,725.333 / 60 = 278.7555 / 60 = 4.64592592

180,633,600 / 25,920 = 6,968.888 180,633,600 /864,000 = 209.0666 180,633,600 / 266.666 = 677,376

2). GRAPHENE
33,177,600

MELTING POINT = 4,510K or 4,236.85C Sum= 28 Product= 33,177,600 SAME AS DIAMOND
33,177,600 / 144,000 = 230.4 33,177,600 / 518,400 = 64 33,177,600 / 31,104,000 = 1.0666 \\\0.2666

MELTING POINT = 4,900K or 4,626.85C Sum = 31 Product = 132,710,400 (11,520 Sq)
132,710,400 / 24 = 5,529,600 / 60 = 92,160 / 60 = 1,536 / 60 = 25.6 / 7.5 = 3.41333\\\\\\\0.02666

132,710,400 / 144,000 = 921.6 / 266.666 = 3.456 / 11.111 = 0.31104000031104

3). GRAPHITE
51,840,000

MELTING POINT = 3,800K or 3,526.85C Sum = 58 Product = 51,840,000 (7,200 Squared)

51,840,000 / 24 Hours = 2,160,000 / 60 Min = 36,000 / 60 Sec = 600 / 60 Arc =10 / 7.5 = 1.333\266.666
51,840,000/864,000=60 51,840,000/144,000=360 51,840,000/129,600=400 51,840,000/266.666=1944

51,840,000 / 25,920 (EQUINOX 25,920 Years) = 2,000 (2,000 BATHS IN THE 2/3 FULLMOLTEN SEA)
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4). BUCKEY BALLS CARBON FULLERENE C60
23,040,000 - 2,073,600 - 8,294,400 - 5,760,000

MELTING POINT = 1523K or 1,249.85C Sum = 58 Product = 8,294,400 (2,880 Sq)

8,294,400 / 25,920=320 8,294,400 / 864,000 = 9.6
8,294,400 / 144 =57,600 8,294,400 / 21,600 = 384\\\\24

8,294,400 / 24 = 345,600 / 60=5,760 / 60=96 / 60=1.6 / 7.5 = 0.21333 \\\0.02666
MELTING POINT = 278.15K or 5C The Sum = 10 and Product = 25

MELTING POINT = 800K or 526.85C Sum =52 Product =5,760,000 (2,400 Sq)

5,760,000 / 25,920 = 222.222
5,760,000/ 864,000 = 6.666 5,760,000/ 144 =40 5,760,000 / 21,600= 266.666

5,760,000 / 24 = 240,000 / 60 = 4,000 / 60 = 6.666 / 60 =1.111 / 7.5 = 0.148148148
MELTING POINT = 707K or 433.85C The Sum = 46 Product = 2,073,600 (1,440 Sq)

2,073,600 / 24 = 86,400 / 60 = 1,440 / 60 =24 / 60 = 0.4 / 0.00075 = 266.666 (C music elemental Octave)

MELTING POINT = 739K or 465.85C The Sum = 56 and Product = 23,040,000 (4,800)

23,040,000 / 24 = 960,000 / 60 = 16,000 / 60 = 266.666 [ 60 = 4.444 23,040,000 / 25,920 = 888.888

5) - CARBON NANOTUBULES

Melting Point 5,200 K or 4,926.85 C

MELTING POINT = 5,200K or 4,926.85C Sum = 68 Product = 298,598,400 (17,280 Sq)

298,598,400 /24 = 12,441,600 / 60 = 207,360 / 60 = 3,456 / 60 = 57.6 (14.4 x 3)/ 7.5 = 7.68 \\\\\0.24
298,598,400 /144 = 2,073.6\\\259.2(H) 298,598,400/25,920 = 11,520 298,598,400/= 129,600 = 2,304

MELTING POINT VACUME = 3,073 K or 2,800C The Sum =20 and Product = 256 (16 Sq)

MELTING POINT AIR = 1,023K or 750C The Sum = 13 and Product = 1,225 (35 Sq)
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4,926.85 / 1 year Time 360 = 13.68569
4,926.85 x 1 year Time 360 = 1,773,666

1,773,666/24 = 73,902.75 /60= 1,231.7125 /60= 20.528541666 /60 = 0.34214236111

4,926.85 / 24 = 205.28541666 / 60 = 3.4214236111 / 60 = 0.0570237226851852
0.0570237226851852 / 3.333 = 0.000950395447531

4,926.85 x 1 year Time 360 = 1,773,666

4,926.85 / 144,000 = 0.034214236111 / 7.5 = 0.00456189814814
4,926.85x144,000x 7.5= x720= x16 = x22.5=

4,926.85 / 266.666 = 18.4756875
4,926.85 x 266.666 = 1,313,826.666

4,926.85 / 1.333 = 3,695.1375
4,926.85 x 1.333 = 6,569.1333

4,926.85 / 11.111 = 443.4165
4,926.85x 11.111 = 54,742.777

4,926.85 [/ 144 = 34.214236111
4,926.85 x 144 = 709,466.4

4,926.85 / 7.5 = 656.91333
4,926.85 x 7.5 = 36,951.375

4,926.85 / 24 = 205.28541666
4,926.85 x 24 = 118,244.444

4,926.85 / 2,000 = 2.463425
4,926.85 x 2,000 = 9,853,700

5) - CARBON NANOTUBULES

4,926.85 / 864 = 5.702372685185185
4,926.85 x 864 = 4,256,798.4

4,926.85 / 432 = 11.40474537037037
4,926.85 x 432 =2,128,399.2

4,926.85 / 216 = 22.0809490740740740
4,926.85 x 216 = 1.064,199.6

4,926.85 / 108 = 45.61898148148148
4,926.85 x 108 = 532,099.8

4,926.85 / 792 = 6.220770202020
4,926.85 x 792 = 3,902,65.2

PART 15 OF 20 — MSAART PATENT APPLICATION NOTES - DRAFT 518,400 — 22:22:22 THUR 22"° SEPT 2022
© STRIKE FOUNDATION GUARANTEE LIMITED | MALCOLM BENDALL 2022 | GRAPHICS - STEVE EARL

385



386

4,926.85 / 396 = 12.44154040404
4,926.85 x 396 = 1,951,032.6

4,926.85 / 25.92 = 109.0790895061728
4,926.85 x 25.92 = 127,703.952

4,926.85 / 6.666 = 739.0275
4,926.85 x 6.666 = 32,845.666

4,926.85 / 5.555 = 886.833
4,926.85 x 5.555 = 27,371.3888

4,926.85 [/ 4.444 = 1,108.54125
4,926.85 x 4.444 = 21,897.111

4,926.85 / 3.333 = 1,478.055
4,926.85 x 3.333 = 16,422.8333

4,926.85 [ 2.222 = 2,217.0825
4,926.85 x 2.222 = 10,948.555

4,926.85 / 1.111 = 4,434.165 / 9 = 492.685
4,926.85 x 1.111 = 44,341.65 x 9 = 399,074.85

5) - CARBON NANOTUBULES

CARBON RIGHT ANGLE TRIANGLE MELTING POINT 4,926.85 C

4,926.85 (3 side) x 6,569.1333 (4 side) =32,365,134.56333 (Area of square)
32,365,134.56333 / 2 = 16,182,567.281666 (Area of the Right Triangle)
16,182,567.281666 / 24 Hours = 674,273.636736111

674,273.636736111 / 60 Minutes = 11,237.89394560185
11,237.89394560185 / 60 Seconds = 187.2982324266975

187.2982324266975 / 60 Arc Seconds =3.121637207111625

4,926.85 /3 =1,642.28333

8,211.41666 =5 x

1,642.28333

6,569.1333 =4 x 1,642.28333
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CARBON SQUARE MELTING POINT 4,926.85 x 4,926.85 = 24,273,850.9225

24,273,850.9225 / 518,400 = 46.82455810667438
24,273,850.9225 / 311,040,000 = 78.4093017779064

24,273,850.9225 / 266.666 = 91,026.94095937502

5) - CARBON NANOTUBULES

24,273,850.9225 / 11.111 = 2,184,646.583025
24,273,850.9225 / 1.333 = 18,205,388.191875
24,273,850.9225 / 144 = 168.568.4091840278
24,273,850.9225 / 7.5 = 3,236,513.456333

4,926.85 x 4,926.85 (Square) = 24,273,850.9225

24,273,850.9225 / 2 =12,136,9256.46125
12,136,9256.46125 / 24 Hours = 505,705.2275520833
505,705.2275520833 / 60 Minutes = 8,428.420459201389
8,428.420459201389 / 60 Seconds = 140.4736743200231
140.4736743200231 / 60 Arc = 0.009528400205761

4,926.85

4,926.85

CARBON NANOTUBULE MELTING POINT 4,926.85 CUBED = 119,593,622,417.5191

119,593,622,417.5191 / 266.666 = 448,476,084.0656968
119,593,622,417.5191 / 11.111 = 10,763,426,017.57672
119,593,622,417.5191 / 1.333 = 89,695,216,813.13937
119,593,622,417.5191 / 144,000 = 830,511.2667883273
119,593,622,417.5191 / 7.5 = 15,945,816,322.33588
119,593,622,417.5191 / 24 = 4,983,067,600.729964
119,593,622,417.5191 / 864,000 = 138,418.5444647212

119,593,622,417.5191 / 432,000 = 276,837.0889294424
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119,593,622,417.5191 / 2,160 = 55,367,417.78588848
119,593,622,417.5191 / 10,800 = 11,073,483.5571777
119,593,622,417.5191 / 6.666 = 17,939,043,362.62787
119,593,622,417.5191 / 5.555 = 21,526,852,035.15344

119,593,622,417.5191 / 4.444 = 26,908,565,043.94183

5) - CARBON NANOTUBULES

1 year, 360 day Time in seconds cube 119,593,622,417.5191/ =
/24/60/60 =

/ 3,456,000 = /720/16/22.5=

CARBON NANOTUBULES RATIOS TO HYDROGEN

CARBON NANOTUBULES 4,926.85 / HYDROGEN -259.2 = 19.007909
CARBON NANOTUBULES 4,926.85 x HYDROGEN -259.2 = 1,277,039.52

CARBON NANOTUBULES 4,926.85 + HYDROGEN -259.2 = 5,186.05

5+41+8+6+5(25)5+1+8+6+5=50
5x1x8x6x5(1,200)x5x1x8x6x5=1,440,000

1,440,000 / 50 = 28,800 1,440,000 x 50 = 72,000,000 / 2,160 = 33,333.333
72,000 / 7.5 =19,600/ 24 = 400 / 60 = 6.666 /60 = 0.111 / 60 = 0.00185185185
72,000 / 24 =3,000/ 60 =50/ 60 = 0.8333 / 60 = 0.013888 x 400 = 5.555 / 0.125 = 44.444

72,000 x 720 = 51,840,000 / 864 = 60,000 / 144 = 416.666 / 720 = 0.57870370 / 16 = 0.036 / 22.5 = x
400 = /0.125 =

CARBON NANOTUBULES 4,926.85 - HYDROGEN -259.2 = 4,667.65
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5) - CARBON NANOTUBULES

PRODUCT AND SUM OF MIRRORED MELTING POINT 4,926.85 C
4+9+2+6+8+5(34)+4+9+2+6+8+5=68
4x9x2x6x8x5(17,280) x5x8x6x9x4=298,598,400

298,598,400 / 24 Hours = 12,441,600 / 60 minutes = 207,360 / 60 seconds = 3,456 / 60 Arc Sec = 57.6
298,598,400 / 864 = 345,600 / 144=2,400/7.5=320/16=20/22.5=0.888 / 0.125 =7.111

298,598,400 (Carbon 4,926.85) / 68 = 4,391,152.941176471
298,598,400 (Carbon 4,926.85) x 68 = 20,304,691,200

298,598,400 (Carbon 4,926.85) / 266.666 = 1,119,744
298,598,400 (Carbon 4,926.85) x 266.666 = 79,626,239,999.999

298,598,400 (Carbon 4,926.85) / 11.111 = 26,873,856//
298,598,400 (Carbon 4,926.85) x 11.111 = 3,317760,000

298,598,400 (Carbon 4,926.85) / 1.333 = 223,948,800
298,598,400 (Carbon 4,926.85) x 1.333 =398,131,200

298,598,400 (Carbon 4,926.85) / 288 = 1,036,800*/518,400/259,200/129,600/64,800/32,400
298,598,400 (Carbon 4,926.85) x 288 = 85,996,339,200 / 864 = 99,532,800/144 = 691,200

298,598,400 (Carbon 4,926.85) / 144 = 2,073,600*/1,036,800/518,400/259,200/129,600
/64,800/ 32,400/16,200/8,100/4,050/2,025/1,012.5/506.25
298,598,400 (Carbon 4,926.85) x 144 = 42,998,169,600

298,598,400 (Carbon 4,926.85) / 864 = 345,600
298,598,400 (Carbon 4,926.85) x 864 = 257,989,017,600

298,598,400 (Carbon 4,926.85) / 432 = 691,200
298,598,400 (Carbon 4,926.85) x 432 = 128,994,508,800

298,598,400 (Carbon 4,926.85) / 2,160 = 138,240 /69,120/34,560/17,280/8,640/4,320/2,160
298,598,400 (Carbon 4,926.85) x 2,160 =644,972,544,000

298,598,400 (Carbon 4,926.85) / 108 = 2,764,800/1,382,400/691,200/345,600/172,800/86,400
298,598,400 (Carbon 4,926.85) x 108 = 32,248,627,200

298,598,400 (Carbon 4,926.85) / 792 = 377,018.181818
298,598,400 (Carbon 4,926.85) x 792 = 236,489,932,800

298,598,400 (Carbon 4,926.85) / 396 = 809,209.756097561
298,598,400 (Carbon 4,926.85) x 396 = 118,244,966,400

298,598,400 (Carbon 4,926.85) / 3,110,400 = 96/48/24/12/6/3/1.5/0.75
298,598,400 (Carbon 4,926.85) x 3,110,400 = 928,760,463,360,000

298,598,400 (Carbon 4,926.85) / 518,400 = 576//288//144//72//36//18//9//4.5//2.25
298,598,400 (Carbon 4,926.85) x 518,400 = 154,793,410560,000
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5) - CARBON NANOTUBULES
298,598,400 (Carbon 4,926.85) / 900 = 331,766/165,888/82,944/41,472/20,10,368/5,184/
/2,592/1,296/648/324/162/81/40.50/20.25
298,598,400 (Carbon 4,926.85) x 900 = 268,738,560,000

298,598,400 (Carbon 4,926.85) / 360 = 829,440/414,720/207,360/103,680 /51,840 /25,920
/12,960/6,480/3,240/1,620/810/405/202.5/101.25/50.625
298,598,400 (Carbon 4,926.85) x 360 = 107,495,424,000

298,598,400 (Carbon 4,926.85) / 720 = 414,720/207,360/103,680/51,840/25,920/ 12,960/
/6,480/3,240/1,620/810/405/202.5/101.25
298,598,400 (Carbon 4,926.85) x 720 = 214,990,848,000

298,598,400 (Carbon 4,926.85) / 16 = 18,662,400 / 22.5 =
298,598,400 (Carbon 4,926.85) x 16 = 4,777,574,400

298,598,400 (Carbon 4,926.85) / 22.5 = 13,271,040
298,598,400 (Carbon 4,926.85) x 22.5 = 6,718,464,000

298,598,400 (Carbon 4,926.85) / 400 = 746,496
298,598,400 (Carbon 4,926.85) x 400 = 119,439,360,000

CARBON RIGHT ANGLE TRIANGLE MELTING POINT PRODUCT 298,598,400
298,598,400 (3 side) x 398,131,200 (4 side) = 11,888,133,931,010,000 (Area of the square)

11,888,133,931,010,000 / 2 = 59,406,696,550,400,000 (Area of the Right Triangle)
59,406,696,550,400,000 / 24 Hours = 2,476,694,568,960,000

2,476,694,568,960,000 / 60 Minutes = 41,278,242,816,000

687,970,713,600 / 60 Seconds = 11,466,187,560

11,466,187,560 / 60 Arc Sec = 191,102,976 (191,102,976 / 7.5 = 25,480,396.8\\-13\\ = 3,110.4)

298,598,400 / 3 = 99,532,800

497,664,000 = 5 x
99,532,800

398,131,200 = 4 x 99,532,800

CARBON NANOTUBULE SQUARE MELTING POINT
298,598,400 x 298,598,400 =89,161,004,482,560,000

89,161,004,482,560,000 / 518,400 = 171,992,678,400
89,161,004,482,560,000 / 311,040,000 = 286,654,464
89,161,004,482,560,000 / 129,600 = 687,970,713,600
89,161,004,482,560,000 / 266.666 = 334,353,766,809,600.1
89,161,004,482,560,000 / 11.111 = 8,024,490,403,430,403
89,161,004,482,560,000 / 1.333 = 66,870,753,361,920,000
89,161,004,482,560,000 / 144,000,000,000 = 619173.64224
89,161,004,482,560,000 / 2,160 = 41,278,242,816,000
89,161,004,482,560,000 / 25,920 = 3,439,853,568,000
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5) - CARBON NANOTUBULES

298,598,400 x 298,598,400 (Square) = 89,161,004,482,560,000

89,161,004,482,560,000 / 24 Hours = 3,715,041,853,440,000
3,715,041,853,440,000 / 60 Minutes = 6,197,364,224,000
61,917,364,224,000 / 60 Seconds = 1,031,956,070,400
1,031,956,070,400 / 60 Arc = 17,199,267,840 / 7.5 = 2,293,235,712

298,598,400

298,598,400
CARBON NANOTUBULE MELTING POINT PRODUCT 298,598,400 CUBED
298,598,400 x 298,598,400 x 298,598,400 = 26,623,333,280,890,000,000,000,000

26,623,333,280,890,000,000,000,000 / 266,666,666 = 99,837,499,803,320,000
26,623,333,280,890,000,000,000,000 / 111,111,111 = 239,699,999,767,600,000
26,623,333,280,890,000,000,000,000 / 1,333,333 = 199,674,999,606,600,000
26,623,333,280,890,000,000,000,000 / 144,000,000 = 184,884,258,895,000,000
26,623,333,280,890,000,000,000,000 / 75,000,000,000,000 = 354,977,777,078.4699
26,623,333,280,890,000,000,000,000 / 24,000,000,000,000 = 1,109,305,553,370.218
26,623,333,280,890,000,000,000,000 / 3,456,000,000,000 = 7,703510,787,293.184
26,623,333,280,890,000,000,000,000 / 864,000,000,000 = 30,814,043,149,172.74
26,623,333,280,890,000,000,000,000 / 432,000,000,000 = 61,628,086,298,345.47
26,623,333,280,890,000,000,000,000 / 2,160,000,000 = 12,325,617,259,690,000
26,623,333,280,890,000,000,000,000 / 108,000,000,000 = 246,512,345,193,381.9
26,623,333,280,890,000,000,000,000 / 8,884,000,000 (MARS D) = 2,996,773,219,370,244
26,623,333,280,890,000,000,000,000 / 4,222,000,000 (VENUS D) = 6,305,858,109,640,750

1 year, 360 day Time in seconds cube 26,623,333,280,890,000,000,000,000 / 360 =
73,953,703,558,010,000,000,000/24=3.081404324917/60=51356738581950000000
= 85,594,564,303,260,000/60 = 14,265,760,717,210,000 / 60 = 237,762,678,620,160
73,953,703,558,010,000,000,000 / 3,456,000 = / 720=/16= [/ 22.5=

298,598,400

298,598,400

298,598,400
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5) - CARBON NANOTUBULES

298,598,400 / 144 = 2,073,600 / 7.5 = 276,480 (\\864)/720=384/16= 24/22.5= 1.0666 (266.6)
298,598,400 / 266.666 = 1,119,744 / 144 = 7,776 [/ 720 =10.80 / 16 = 0.675 / 22.5 = 0.03 / 0.125 =
298,598,400 / 6.666 = 44,789,760/ 144 = 311,040 / 720=432 / 16 =27 / 22.5=1.2 / 0.125 = 9.6
298,598,400 / 5.555 = 53,747,712/ 144 = 373,248 /720 =518.4 /16 =32.4 /22.5=1.44 / .125 = 11.52
298,598,400 / 4.444 = 67,184,640/ 144 = 466,560 / 720 = 684 /16 = 40.50 /22.5 = 1.8 (1/x = 0.555)
298,598,400 / 3.333 = 89,579,520/ 144 = 622,080 / 720 = 864 /16 =54 / 22.5=2.4 / 0.125=19.2
298,598,400 / 2.222 = 134,369,280/ 144 = 933,120 / 720= 1,296 /16 =81 /22.5 =3.6 /0.125 = 28.8
298,598,400 /1.111 = 268,738,560/ 144 = 1,866,240/ 720 = 2,592 /16 = 162 /22.5=7.2 /0.125 = 57.6
298,598,400 / 3,456 = 86,400 / 24 Hours = 3,600 / 60 Minutes =60 / 60 Sec =1/ 7.5 =0.1333 \ 0.2666

CARBON NANOTUBULES RATIOS TO HYDROGEN
CARBON NANOTUBULES 4,926.85 / HYDROGEN -259.2 = 19.007909
CARBON NANOTUBULES 4,926.85 x HYDROGEN -259.2 =1,277,039.52
CARBON NANOTUBULES 4,926.85 + HYDROGEN -259.2 = 5,186.05
5+41+8+6+5(25)5+1+8+6+5=50
5x1x8x6x5(1,200)x5x1x8x6x5=1,440,000
1,440,000 / 50 = 28,800 1,440,000 x 50 = 72,000,000 / 2,160 = 33,333.333
72,000 / 7.5 = 9,600 / 24 Hrs = 400 / 60 Min = 6.666 /60 Sec = 0.111 / 60 Arc Sec = 0.00185185185
72,000 / 24 Hrs = 3,000 / 60 Min = 50 / 60 Sec = 0.8333 / 60 Arc = 0.0138 x 400 = 5.555 /0.125 = 44.444
72,000 x 720 = 51,840,000 /864 = 60,000 /144 = 416.666 /720 = 0.57870370/16 =0.036 /22.5 = 0.16

CARBON NANOTUBULES 4,926.85 - HYDROGEN -259.2 = 4,667.65
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CARBON MONOXIDE (Mp -205.2 C Bp -191.5 C)
AND HYDROGEN

CARBON RIGHT ANGLE TRIANGLE MELTING POINT C
(3 side) x (4 side) = (Area of square)
/ 2 = (Area of the Right Triangle)

/ 24 Hours =

/ 60 Minutes =

/ 60 Seconds =

/ 60 Arc Seconds =
/7.5 LCF=

/3=

=4x

CARBON MONOXIDE SQUARE MELTING POINT x =

/ 518,400 =

/ 311,040,000 =
/ 266.666 =
/11111 =
/1.333=

/144 =

/7.5=

X (Square) =

/2=

/ 24 Hours =

/ 60 Minutes =
/ 60 Seconds =
/ 60 Arc =
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CARBON MONOXIDE MELTING POINT CUBED =
/ 266.666 =
/11.111=
/1333 =
/144 =
/75=
/24=
/ 864 =
/ 432
/216
/ 108

1 year, 360 day Time in seconds cube / =
/24/60/60 =
/ 3,456,000 = /720/16/22.5 =

/ 1 year Time in Seconds cube =
/24=/60=/60= /3.333=

/144,000 /7.5/720= /16 = /225=
/ 266.666 =

/ 6.666 =

/ 5.555 =

/ 4.444 =

/3.333=

/2.222 =

/1.111= /9=

CARBON MONOXIDE RATIOS TO HYDROGEN

CARBON MONOXIDE / HYDROGEN -259.2 =

CARBON MONOXIDE x HYDROGEN -259.2 =

CARBON MONOXIDE + HYDROGEN -259.2 =
5+1+8+6+5()5+1+8+6+5=
5x1x8x6x5()x5x1x8x6x5=

/50= x50= /2,160 =

/7.5=/24=/60= [/60= /60=

/24=/60=/60= /60= x400= /0.125=

= /864= [144= [720= /16= [/22.5= x400= /0.125 =

CARBON MONOXIDE - HYDROGEN -259.2 = 4,667.65
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METHANE AND CARBON MONOXIDE

CARBON MONOXIDE AND METHANE RIGHT TRIANGLE MELTING POINT C
(3 side) x (4 side) = (Area of square)
/ 2 = (Area of the Right Triangle)

/ 24 Hours =

/ 60 Minutes =

/ 60 Seconds =

/ 60 Arc Seconds =

/3=

=4x

CARBON MONOXIDE AND METHANE SQUARE MELTING POINT x =

/ 518,400 =

/ 311,040,000 =
/ 266.666 =
/11111 =
/1.333=

/144 =

/7.5=

X (Square) =

/2=

/ 24 Hours =

/ 60 Minutes =
/ 60 Seconds =
/ 60 Arc =
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METHANE AND CARBON MONOXIDE MELTING POINT CUBED =

/ 266.666 =
/11111 =
/1.333=
/144 =
[7.5=
[24=
/864 =
/432

/ 216
/108

1 year, 360 day Time in seconds cube / =
/24 Hrs= /60 Min = / 60 Sec= /60 Arc Sec =
/ 3,456,000= /720= /16=/225=

/ 1 year Time in Seconds cube =

/24 Hrs= /60 Min= /60Sec= /60 ArcSec= /3.333=
/144,000= /7.5= /720= /16= [/225=

] 266.666 =

/ 6.666 =

/ 5.555 =

]/ 4.444 =

/3.333=

] 2.222 =

/1.111= /9=

CARBON NANOTUBULES RATIOS TO HYDROGEN

CARBON NANOTUBULES 4,926.85 / HYDROGEN -259.2 = 19.007909
CARBON NANOTUBULES 4,926.85 x HYDROGEN -259.2 = 1,277,039.52
CARBON NANOTUBULES 4,926.85 + HYDROGEN -259.2 = 5,186.05
5+41+8+6+5(25)5+1+8+6+5=50
5x1x8x6x5(1,200)x5x1x8x6x5=1,440,000

1,440,000 / 50 = 28,800 1,440,000 x 50 = 72,000,000 / 2,160 = 33,333.333
72,000 /7.5=9,600 /24 =400/ 60 =6.666 /60 =0.111 / 60 = 0.00185185185

72,000 / 24 =3,000 / 60 =50 / 60 = 0.8333 / 60 = 0.013888 x 400 = 5.555 / 0.125 = 44.444

72,000 x 720 = 51,840,000 / 864 = 60,000 / 144 = 416.666 / 720 = 0.57870370 / 16 = 0.036 / 22.5
= x400 = /0.125 =

CARBON NANOTUBULES 4,926.85 - HYDROGEN -259.2 = 4,667.65
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CARBON 3,500 C + OXYGEN -183 C
HYDROGEN -259.2

HYDROGEN PLUS PALLADIUM COLD FUSION INTERACTION STRIPPING THE ELECTRON
FROM THE PROTON NON NUCLEAR REACTION, NO NUCLEUS, NO POLLUTION

2,963 (Palladium) x 252.87 (Hydrogen) = 749,253.81 x 1.333 = 999,005.078 / 11.111/ 7.5/ 16 / 22.5 =
2,963 (Palladium) / 252.87 = 11.71748329181 252.87 / 2,963 = 0.085342

252.87 + 2,963 (Palladium) = 3,215.87is[3+2+1+5+8+7(26) +7+8+5+1+2+3] =52
3,215.87=3x2x1x5x8x7(1,680)x7x8x5x1x2x3=2,822,400 / 3.333 = 864,720

2,822,400 / 5.555 = 508,032 2,822,400 / 6.666 = 423,360
2,822,400/ 144 = 19,600 3,215.87/ 144,000= /7.5 = 2.61

CARBON RIGHT ANGLE TRIANGLE MELTING POINT 4,926.85 C

4,926.85 (3 side) x 6,569.1333 (4 side) =32,365,134.56333 (Area of square)
32,365,134.56333 / 2 = 16,182,567.281666 (Area of the Right Triangle)

16,182,567.281666 / 24 Hours = 674,273.636736111
674,273.636736111 / 60 Minutes = 11,237.89394560185
11,237.89394560185 / 60 Seconds = 187.2982324266975
187.2982324266975 / 60 Arc Seconds =3.121637207111625

4,926.85 /3 =1,642.28333

8,211.41666 =5 x
1,642.28333

6,569.1333 =4 x 1,642.28333

CARBON SQUARE MELTING POINT 4,926.85 x 4,926.85 = 24,273,850.9225

24,273,850.9225 / 518,400 = 46.82455810667438
24,273,850.9225 / 311,040,000 = 78.4093017779064
24,273,850.9225 / 266.666 = 91,026.94095937502
24,273,850.9225 / 11.111 = 2,184,646.583025
24,273,850.9225 / 1.333 = 18,205,388.191875
24,273,850.9225 / 144 = 168.568.4091840278
24,273,850.9225 / 7.5 = 3,236,513.456333
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4,926.85 x 4,926.85 (Square) = 24,273,850.9225

24,273,850.9225 / 2 =12,136,9256.46125
12,136,9256.46125 / 24 Hours = 505,705.2275520833
505,705.2275520833 / 60 Minutes = 8,428.420459201389
8,428.420459201389 / 60 Seconds = 140.4736743200231
140.4736743200231 / 60 Arc Sec = 0.009528400205761

CARBON NANOTUBULE MELTING POINT 4,926.85 CUBED = 119,593,622,417.5191

119,593,622,417.5191 / 266.666 =
119,593,622,417.5191 / 11.111 =
119,593,622,417.5191 / 1.333 =
119,593,622,417.5191 / 144 =
119,593,622,417.5191 /7.5 =
119,593,622,417.5191 / 24 =
119,593,622,417.5191 / 864 =
119,593,622,417.5191 / 432
119,593,622,417.5191 / 216
119,593,622,417.5191 / 108

1 year, 360 day Time in seconds cube 119,593,622,417.5191/ =
/24=/60= /60=/60=
/ 3,456,000= /720= /16=/225=

CARBON NANOTUBULES RATIOS TO HYDROGEN

CARBON NANOTUBULES 4,926.85 / HYDROGEN -259.2 = 19.007909
CARBON NANOTUBULES 4,926.85 x HYDROGEN -259.2 = 1,277,039.52
CARBON NANOTUBULES 4,926.85 + HYDROGEN -259.2 = 5,186.05
5+41+8+6+5(25)5+1+8+6+5=50
5x1x8x6x5(1,200)x5x1x8x6x5=1,440,000

1,440,000 / 50 = 28,800 1,440,000 x 50 = 72,000,000 / 2,160 = 33,333.333
72,000 /7.5=9,600/24=400/60=6.666 /60=0.111 / 60 = 0.00185185185

72,000 /24 =3,000/60=50/60=0.8333 /60 = 0.013888 x 400 = 5.555 / 0.125 = 44.444

72,000 x 720 = 51,840,000 / 864 = 60,000 / 144 = 416.666 / 720 = 0.57870370 / 16 = 0.036 / 22.5 = x
400 = /0.125 =
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PALLADIUM MELTING POINT

MELTING POINT = 1,555.2 x 2 = 3,110.4 (Sanskrit long year TIME) 1,555.2 / 11.111 = 139.68
1x5x5x5x2(250)x2x5x5x5x1=62,500 (6.25 Pi square cubits 1/16 th sphere x 10,000)

62,500 + 250 + 250 = 63,000

The product of Palladium’s BOILING POINT (2,963) is 46,656 divided by the melting point (1,555.2) is 62,500
equals 0.746496 and 62,500 / 46,656 = 1.333 x 2 = 2.666

1+5+5+5+2(18)+2+5+5+5+1=36

PALLADIUM RIGHT ANGLE TRIANGLE BOILING POINT 1,555.2

AVT = 3,224,862.72 /2 = 1,612,431.36*
*/24/60/60/60 = 18.6624

18.6624 /16 / 22.5 = 0.05184
*720/16/22.5 = 6.2208 (648)

1,555.2 /3 =518.4 518.4x5=2,592

2,073.6 =518.4x 4

PALLADIUM SQUARE BOILING POINT 1,555.2 x 4 = 6,220.8 / 3,456 = 1.8 (1/x = 0.555)

PALLADIUM CUBE BOILING POINT 1,555.2 CUBED = 3,761,479,876.608

1 yr =360 days in Seconds = 31,104,000 Sec cubed = 30,091,839,012,860,000,000,000
30,091,839,012,860,000,000,000 / 3,761,479,876.6.608 = 8,000,000,000,000.
3,761,479,876.608 / 24 Hrs / 60 Min / 60 Sec / 60 Arc Sec / 7.5 = 96.7458816
3,761,479,876.608 / 3,456 = 1,088,391.168

8,000,000,000,000 / 7,200,000,000 = 1,111.111 / 16 = 69.444/ 22.5 =
3.08641975308641975 / 0.125 = 24.69135802469136 x 400 = 987.654320987654320

3,761,479,876.608 =
5,555,555,555.555 /60 =
3.333 = 46,296.296296296

1 year Time in Seconds cubed /
8,000,000,000,000/24 = 333,333,333,333.333 /60 =
92,592,592.592 /60 = 154,320.987654321 /

8,000,000,000,000 / 144,000 = 5,555,555.555/ 7.5 = 740,740.740 (1/x = 0.00000135)

740,740.740 / 720 = 1,028.80658436214 /16 = 64.3004115226337448559 /22.5 = 2.857796067672611
8,000,000,000,000 /129,600= 6,172,839,50617284/1.333/144,000=32.150205761316881/x=0.031104
8,000,000,000,000 / 266.666 = 3,000,000,000.

8,000,000,000,000 / 1.333 = 600,000,000,000

8,000,000,000,000 / 6.666 = 120,000,000,000

8,000,000,000,000 / 5.555 = 144,000,000,000

8,000,000,000,000 / 4.444 = 180,000,000,000

8,000,000,000,000 / 3.333 = 240,000,000,000

8,000,000,000,000 / 2.222 = 360,000,000,000

8,000,000,000,000 / 1.111 = 720,000,000,000 / 9 = 80,000,000,000
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PALLADIUM BOILING POINT

BOILING POINT = 2,963 / 266.666 = 11.11125

2,963 (Palladium)so 2+9+6+3(20) +3+6+9+2=40
2,963 (Palladium) so 2x 9 x 6 x 3 (216) 3 x 6 x 9 x 2 = 46,656 / 5.555 = 8,398.080

2,963 (Palladium) / 11.111 = 266.666 / 24 =11.111
2,963 (Palladium) / 5.555 = 533.34 2,963 x 1.333 =2,222.25 2,963 / 3.333 = 888.88

PALLADIUM RIGHT ANGLE TRIANGLE BOILING POINT 2,963

AT =5,852,911.679*
*/24/60/60 = 67.74 [ 16 = 4.23
*/720/16/22.5/ .125 = 180.064

2,963 / 3 = 987.666 987.666 x 5 = 4,938.333

3,950.666 = 987.666 x 4

PALLADIUM SQUARE BOILING POINT 2,963 x 4 = 11,852 / 3,456 = 3.429398148148

PALLADIUM CUBE BOILING POINT 2,963 CUBED = 26,013,270,347

1 year, 360 days in seconds 31,104,000 cubed 30,091,839,012,860,000,000,000
30,091,839,012,860,000,000,000 / 26,013,270,347 = 1,156,788,001,333.879
1,156,788,001,333.879/24/60/60 = 13,338,750.0154384
1,156,788,001,333.879/3,456,000 = 334,718.7503859605 /720/16/22.5 /.125 = 10.33

1 year Time in Seconds cube /
1,156,788,001,333.879
1,156,788,001,333.879 /24/60/60/60 =
223,145.8335906403 / 3.333 =
1,156,788,001,333.879 / 144,000/ 7.5 =
/ 720/ 16/ 22.5=148.7638890604269

26,013,270,347 =

223,145.8335906403
66,943.7500771921
1,071,100.001235073

1,156,788,001,333.879 / 864,000 = 1,338,875.001543842

1,156,788,001,333.879 / 129,600 = 8,925,833.343625612

1,156,788,001,333.879 / 266.666 = 4,337,955,005.002049

1,156,788,001,333.879 / 6.666 = 173,518,200200.0819

1,156,788,001,333.879 / 5.555 = 208,221,840,240.0983

1,156,788,001,333.879 / 4.444 = 260,277,300,300.1229

1,156,788,001,333.879 / 3.333 = 347,036,400,400.1638

1,156,788,001,333.879 / 2.222 = 520,554,600,600.2458

1,156,788,001,333.879 / 1.111 = 1,041,109,201,200.492 / 9 = 115,678,800,133.3879

PART 15 OF 20 — MSAART PATENT APPLICATION NOTES - DRAFT 518,400 — 22:22:22 THUR 22"° SEPT 2022
© STRIKE FOUNDATION GUARANTEE LIMITED | MALCOLM BENDALL 2022 | GRAPHICS - STEVE EARL



401

PLATINIUM - Boiling point = - 3,825

OXYGEN - Boiling point =-183
- Melting point =

HYDROGEN - Boiling point = - 252.87
- Melting point = -259.20

CARBON — MELTING POINT - CARBON SHEETS DIAMOND = 3,426.85
- MELTING POINT - CARBON SHEETS GRAPHENE = 4,236.85
- MELTING POINT - CARBON MATRIX GRAPHITE = 3,526.85
- MELTING POINT CARBON FORMED SPHERES = 1,249.85
- MELTING POINT CARBON FORM NANOTUBULE = 4,926.85

HELIUM - Boiling point = -268.93
- Melting point = -272.2

DEUTERIUM - Boiling point = 101.4

TUNGSTEN - Boiling point 5,555 (Sun Aether) / 11.111 = 500
5,555 / 266.666 = 20.83125
5x5x5x5(625)x5x5x5x5=390,625
390,625 + 625 + 625 = 391,875
5+5+5+5(20)+5+5+5+5=40

The product of Tungsten’s boiling point (5,555) product is 390,625 divided
by the MELTING POINT (3,420) product 576 is 678.168

MELTING POINT 3,420 (Sun’s radius)

3x4x2(24)2x4x3=576/24=24

576 +24+24=624/24=26

3+4+2(9)+2+4+3=18

GOLD - Boiling point 2,970 (Earth)
- Melting point 1,063

SILVER - Boiling point 2,162 (Moon)

COPPER - Boiling point 2,562 (Earths Equinox)
BRASS - Melting point 900

RED BRASS — Melting point 1,000

IRON - Boiling point — 2,861
Melting point — 1,538

CARBON - Boiling point - 4,827
— Melting point - 3,550

NITROGEN - Boiling point — 195.8
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INTERNAL ANGLES OF A CUBE 2,160 OCTAVES UP AND DOWN TABLE

OCTAVES UP

2,160 /1.111=1944

0.) 1,944 / 0.432 = 4,500

1.) 3,888 / 0.432 = 9,000

2.)7,776 / 0.432 = 18,000

3.) 15,552 / 0.432 = 36,000

4.) 31,104 / 0.432 = 72,000 Torus

5.) 62,208 / 0.432 = 144,000 double Torus = Photon
6.) 124,416 / 0.432 = 288,000

7.) 248,832 / 0.432 = 576,000

8.) 497,664 / 0.432 = 1,152,000

9.) 995,328 / 0.432 = 2,304,000

OCTAVES DOWN

2,160 /1.111=1944

0.) 1944 / 0.432 = 4,500

1.) 972/ 0.432 = 2,250

2.) 486/ 0.432 =1,125

3.) 243 / 0.432 =562.5

4.)121.5 /0.432 = 281.25

5.) 607.5 / 0.432 = 140.625

6.) 303.75/0.432 =70.3125

7.) 151.875 / 0.432 = 35.15625
8.) 075.9375 / 0.432 = 17.578125

9.) 037.96875 / 0.432 = 8.7890625
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VAJRA SINGULARITY POINT AT VORTEX INVERSION

VORTEX INVERSION TABLE

REVERSAL LEFT HAND CLOCKWISE TO RIGHT HAND ANTICLOCKWISE SPIRAL SHIFT
MIRROR NUMBER CREATION

1x8

12x 8

123 x 8

1234 x 8
12345x 8
123456 x 8
1234567 x 8
12345678 x 8

123456789 x 8

123456789x9=1,111,111,101

123456789 x 8 = 987,654,312

123456789x 7= 864,197,523

123456789 x 6= 740,740,734

123456789 x 5= 617,238,945

123456789 x4 = 493,827,156
123456789x3= 370,370,367

123456789x 2 = 246,913,578

123456789x 1= 123,456,789

123456789 x 1.111 = 137,174,209.99999862826
123456789 x 11.111 =1,371,742,099.9999862862

123456789 x 111 = 13,703,703,579

+1=9
+2=98

+3 =987

+4 = 9876
+5=98765
+6 = 987654
+7 = 9876543
+8 = 98765432

+9 = 987654321
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MILLENIUM TEMPLE

SOLAR SYSTEM YEAR 25,920, SUN CUBE 10,368,000
SUN 864,000 (888), EARTH 7,920 (999), MOON 2,160 (222)

EARTH’S EQUINOX CYCLE 25,920 x
EARTH’S EQUINOX CYCLE 25,920 /

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

EARTH’S EQUINOX CYCLE
EARTH’S EQUINOX CYCLE

RELATIONSHIP TO 2,160, 144, 108

7.5 =194,400.....(POS)
7.5 =3,456..........(POS)

25,920 x 1.333 =34,560........ (POS)
25,920 / 1.333 =19,440........ (POS)

25,920 x 11.111 =288.............(LIGHT 144 x 2)
25,920/ 11.111 =2,332.8......(COMPOSITE 864)

25,920 x 266.666 =6,912,000..(RFEU)
25,920 / 266.666 =97.2............ (7,920 EARTH)

25,920 /129,600 =0.2 (1/x=5)
25,920 x 129,600 =3,359,232,000 / 144,000 = 23,328

25,920 /
25,920 x

108 =240
108 =2,799,360 / 144,000 = 19.44

25,920 /
25,920 x

144 =180 (1/x=0.00555555)
144 =3,732,480 / 144,000 = 25.92

25,920 / 864,000 = 0.03 (1/x=33.333)
25,920 x 864,000 =22,394,880,000/144,000= 155,520/5= 31,104

25,920 / 432,000
25,920 x 432,000

0.06 (1/x=16.666)
11,197,440,000 / 144,000 = 77,760

25,920 / MOON’S D 2,160
25,920 x MOON’S D 2,160

12......... (SUNS AETHER R)
55,987,200 / 144,000 = 388.8

25,920 / MOON’SR 1,080
25,920 x MOON’S R 1,080

24......... (SUNS AETHER D)
27,993,600 / 144,000 = 194.4

25,920 / EARTH’S D 7,920
25,920 X EARTH’SD 7,920

3.272727 (1/x=0.30555)
205,286,400 / 144,000 = 1,425.6

25,920 / MAR’S D 4,222
25,920 X MAR’S D 4,222

= 6.13927 (1/x=0.16288580)
= 109,434,240 / 144,000 = 759.96

25,920 / JUPITER’S D 88,800
25,920 x JUPITER’S D 88,800

0.29189 (1/x=3.42592592)
2,301,696,000 / 144,000 = 15,984
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EARTH’S EQUINOX CYCLE 25,920 / JUPITER’'SR 44,400 = 0.58378378 (1/x =1.712961296)
EARTH’S EQUINOX CYCLE 25,920 x JUPITER’S R 44,400 = 1,150,848,000/144,000 = 7,992 EARTH
180/12=15

180/22.5=8

25,920 / 266.666 = 97.20000000000243 1/x =0.01028806584362
97.20000000000243 x 11.111 = 1,080.0000000000002 [Moons Radius]

SUN’S CUBE 10,368,000 / 266.666 = 38,880 / 266.666 = 145.8
SUN’S CUBE 10,368,000 / 108 = 96,000 / 266.666 = 360
SUN’S CUBE 10,368,000 / 144 =72,000
SUN’S CUBE 10,368,000 / 2,160 = 4,800

72,000 / 4,800 =15

SUNS SQUARE 3,456,000 / 266.666 = 12,960 (RFEU)

SUNS SQUARE 3,456,000/ 108 =32,000 / 266.666 = 120
SUNS SQUARE 3,456,000/ 144 =24,000

SUNS SQUARE 3,456,000 / 2,160 = 1,600

24,000/ 22.5=1,066.666 \\266.666
3,456,000 / 266.666 = 12,960.000000000324 1/x =0.00007716049383

3,456,000 x 11.111 = 384

SUN’S TORUS 2,160,000 (864,000 x 2.5) / 266.666 = 8,100
(SUN’S LIGHT POLARIZES, AS THE MOON IS THE SAME RESONANCE AS SUN’S TORUS 2,160)

8,100.0000000002025 //16,200.00000000405 // 32,400.0000000081 //64,800.0000000162
//129,600.0000000324 // 259,200.0000000648 //518,400.0000001296 [ 6 DAYS OF
CREATION ]

SUN’S TORUS 2,160,000 (864,000 x 2.5) / 108 = 20,000 / 2.5 = 8,000
SUN’S TORUS 2,160,000 (864,000 x 2.5) / 144 = 15,000 (2 x 7.5)
SUN’S TORUS 2,160,000 / 2,160 = 1,000

SUN’S OCTAVE 1,728,000 / 108 = 16,000 16,000/ 22.5 =
SUN’S OCTAVE 1,728,000/ 144 =12,000 12,000/22.5 = 533.333 / 2 = 266.666
SUN’S OCTAVE 1,728,000/ 2,160 = 800

SUN’S DIAMETER 864,000/ 108 = 8,000
SUN’S DIAMETER 864,000/ 144=6,000/22.5=266.666
SUN’S DIAMETER 864,000/ 2,160=400/22.5=1.5

6,000 / 400=15
400 / 6,000 = 0.06666 (2/3 FULL MOLTEN SEA, RI 1.333, C 2.666)
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6,000 / 22.5 = 266.666

864,000 / 266.666 = 3,240 1 /x=0.00030864197531

3,240 x 11.111 = 36,000 x 1.333 = 48,000 / 7.5 = 6,400 / 16 = 400

311, 040,000,000,000 / 864,000 = 360,000 / 300 = 1,200,000 / 720 = 1,666.666 / 360 =
4.629 x 1.333 =6.1728 / 1.111 = 5.555 x 1,000 =5,555.555/ 16 = 347.222 / 22.5 =
15.432098765431944444/ 11.111 = 1.3888 x 8,000 = 11,111.111 x 7.5 = 83,333.333 /60 =
1,388.8 / 60 = 23.148148 / 37 = 0.625625 x 111 = 96.444

311,040,000,000,000 / 864,000 = 360,000,000
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